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If G is any graph ,
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symmetric , not necessarily regular
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at least d O 's occur

at most k 0 's occur

"

( did - constrained data
"



Fibonacci data :
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Shannon's theory :

say you have a
directed graph
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Then ! Say that digraph G that

is strongly connected
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ii. for any v1 ,Vz C- G

there is a path from v,
to Vz

[Mirrors the notion of an irreducible
Kharkov chair ]
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If dian . diameter of G
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t d - 3 from Vi



Claim : d- regular graph G
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Then

Induced subgraph
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Thin ! If G
,
is the induced graph

by G taking a subset TT
,

as above
,
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Idea behind Weyl 's law , min .
max
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Mm - max & max
- mm principles !
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Let Ti
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For any J
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RCW) & dz .

Why :
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fact ! Any linear systemamvariables and m - l equations
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a non - triaxial solution .
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So dim (w ) = 2 (or =z)
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